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0.1 3 0.0 Pjm 3.0 2 1.9 1 1.1 pisek jemnozrnny - - <0,15 velmi kypry kypry - 22 27 - 0.35] 0.61 1.3
0.2 5 0.0 Pjm 5.0 4 3.2 1 1.8 pisek jemnozrnny - - 0.21 kypry kypry - 22 29 - 0.34 | 0.66 2.1
0.3 2 0.0 Pjm 2.0 2 1.3 1 0.7 pisek jemnozrnny - - <0,15 velmi kypry kypry - 22 25 - 0.37 | 0.57 0.9
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0.8 33 0.0 Pjm 33.0 25 21.0 1| 118 pisek jemnozrnny - - 0.57 | stfednéulehly [ stfedné ulehly - 23 39 - 0.27 | 0.80 14.2
0.9 38 0.0 Pjm 38.0 | 29 24.2 1| 136 pisek jemnozrnny - - 0.59 | stfedné ulehly | stfedné ulehly - 24 40 - 0.27 | 0.81 16.3
1.0 100 0.0 Pjm 100.0 | 77 63.6 2 323 pisek jemnozrnny - - 0.76 ulehly ulehly - 25 44 - 0.23 | 0.86 38.8] 10




